

**CITY OF CORPUS CHRISTI  
PURCHASING DIVISION  
BUYER: GERALD GOODWIN**

**PRICE SHEET  
TLGPC CONTRACT NO. 430-13  
VEHICLES**

ITEM NO.	CAPITAL OUTLAY NO.	CNG AVAIL.	CNG NOT AVAIL.	DESCRIPTION	QTY.	UNIT	Caldwell Country Chevrolet Caldwell, TX	
							UNIT PRICE	TOTAL PRICE
1	A-124	X		2016 reg cab F250 CNG pickup truck	1	ea.	\$42,345.85	\$42,345.85
2	A-137		X	2016 reg cab F350 4x4 pickup truck	1	ea.	\$31,973.80	\$31,973.80
3	A-138		X	2016 ext cab F250 4x4 pickup truck	2	ea.	\$29,957.01	\$59,914.02
4	A-149		X	2016 reg cab F350 pickup truck	1	ea.	\$32,639.93	\$32,639.93
5	A-150		X	2016 reg cab F150 4x4 pickup truck	2	ea.	\$23,343.76	\$46,687.52
6	A-151		X	2016 ext cab F150 pickup truck	6	ea.	\$25,748.76	\$154,492.56
7	A-152		X	2016 ext cab F250 4x4 pickup truck	1	ea.	\$27,572.70	\$27,572.70
8	A-153		X	2016 Ford Transit 350 12-pass van	1	ea.	\$28,771.76	\$28,771.76
9	A-154		X	2016 Ford Transit 150 cargo van	1	ea.	\$24,672.76	\$24,672.76
10	A-163 - A-167 - A-169	X		2016 ext cab F250 CNG pickup truck	5	ea.	\$43,334.64	\$216,673.20
11	A-170	X		2016 crew cab F250 CNG pickup truck	1	ea.	\$45,935.68	\$45,935.68
12	A-215		X	2016 crew cab F350 pickup truck	1	ea.	\$49,185.70	\$49,185.70
13	A-220 - A-223 - A-227 - A-231		X	2016 ext cab F150 pickup truck	3	ea.	\$23,442.76	\$70,328.28
14	A-232 - A-233		X	2016 Ford Transit 150 cargo van	4	ea.	\$25,111.70	\$100,446.80
15	A-165		X	2016 ext cab F150 4x4 pickup truck	1	ea.	\$29,227.10	\$29,227.10
16	A-171		X	2016 Ford Escape S	1	ea.	\$21,456.70	\$21,456.70
17	A-177		X	2016 ext cab F150 4x4 pickup truck	1	ea.	\$32,277.00	\$32,277.00
18	A-260 - A-268		X	2016 ext cab F150 pickup truck	9	ea.	\$24,686.30	\$222,176.70
19	A-269		X	2016 ext cab F150 4x4 pickup truck	1	ea.	\$29,949.30	\$29,949.30
20	A-284		X	2016 ext cab F350 pickup truck	1	ea.	\$40,757.85	\$40,757.85
21	A-309		X	2016 Ford Escape S	4	ea.	\$20,297.70	\$81,190.80

Purchase -	\$416,532.28
Lease-Purchase	\$972,143.73
Interest for Lease	<u>\$63,035.47</u>
<b>Total Cost -</b>	<b>\$1,451,711.48</b>

**CITY OF CORPUS CHRISTI  
PURCHASING DIVISION  
BUYER: GERALD GOODWIN**

**PRICE SHEET  
TLGPC CONTRACT NO. 430-13  
VEHICLES**

Caldwell Country LLC  
Caldwell, TX

ITEM	DESCRIPTION	QTY.	UNIT	UNIT PRICE	TOTAL PRICE
1	2016 reg cab F250 CNG pickup truck	1	ea.	\$42,345.85	\$42,345.85
12	2016 crew cab F350 pickup truck	1	ea.	\$49,185.70	\$49,185.70
13	2016 ext cab F150 pickup truck	3	ea.	\$23,442.76	\$70,328.28
14	2016 Ford Transit 150 cargo van	4	ea.	\$25,111.70	\$100,446.80
17	2016 ext cab F150 4x4 pickup truck	1	ea.	\$32,277.00	\$32,277.00
20	2016 ext cab F350 pickup truck	1	ea.	\$40,357.85	\$40,357.85
21	Buyboard fee	1	ea.	\$400.00	\$400.00

**TOTAL: \$335,341.48**

R  
R  
R  
R  
R  
A

**CITY OF CORPUS CHRISTI  
PURCHASING DIVISION  
BUYER: GERALD GOODWIN**

**PRICE SHEET  
TLGPC CONTRACT NO. 4:  
VEHICLES**

ITEM	DESCRIPTION	QTY.	UNIT	Caldwell Count Caldwell, TX UNIT PRICE
2	2016 reg cab F350 4x4 pickup truck	1	ea.	\$31,973.80
3	2016 ext cab F250 4x4 pickup truck	2	ea.	\$29,957.01
4	2016 reg cab F350 pickup truck	1	ea.	\$32,639.93
5	2016 reg cab F150 4x4 pickup truck	2	ea.	\$23,343.76
6	2016 ext cab F150 pickup truck	6	ea.	\$25,748.76
7	2016 ext cab F250 4x4 pickup truck	1	ea.	\$27,572.70
8	2016 Ford Transit 350 12-pass van	1	ea.	\$28,771.76
9	2016 Ford Transit 150 cargo van	1	ea.	\$24,672.76
10	2016 ext cab F250 CNG pickup truck	5	ea.	\$43,334.64
11	2016 crew cab F250 CNG pickup truck	1	ea.	\$45,935.68
15	2016 ext cab F150 4x4 pickup truck	1	ea.	\$29,227.10
16	2016 Ford Escape S	1	ea.	\$21,456.70
18	2016 ext cab F150 pickup truck	9	ea.	\$24,686.30
19	2016 ext cab F150 4x4 pickup truck	1	ea.	\$29,949.30
		33		

**TOTAL:**

30-13

ry LLC

TOTAL  
PRICE

\$31,973.80	R
\$59,914.02	R
\$32,639.93	R
\$46,687.52	R
\$154,492.56	R
\$27,572.70	R
\$28,771.76	R
\$24,672.76	R
\$216,673.20	R
\$45,935.68	R
\$29,227.10	R
\$21,456.70	R
\$222,176.70	A
\$29,949.30	A

**\$972,143.73**